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,,U'n<-q<UqAP-24/03" 6u6t1uqpn4 thgnUph qtrurhurr.nnq hurtrdtrudnrln{lr trfrurnfr

<.Ap{bd <<07> <<drupm]r> 2024p.
drudp 11 s

uuruLulgnd hhL
(utrdtr rudn nn qh ! ru Juurqu h'

L.1,[!nr1nu1uL "Upqblngurqurnqur1htr htudufrp> OflU9-fr rntropbtrfr

funphp4u14rutr
(urtr dL rudn l1n qh ruh rpu dh bp'
(.Qnpu.rtrltuL _ (Upqblngruuluplu1frL hurdufrpo qnUq-h mtropbLfr oqtrulurtr

fu.Upurpurlrutr . (Upqblnguulunt{ujhtr hrudrufrp> cll-lUg-fr puprnnrqupnrplutr
tr rlu p1u untr un bu ur ! urL pu db I q ur h bu un ur u,1 br"n

(urLdh udnnn {h pur p rn n rrlurp'

L.Uillrplutr nUpqblnguquplltqftL hurdurfrp> rnnUq-h 
$frLurtruurrnLmbuurl1urtr

pudL I hu2{uquh-qutrduquh
1. SbnbLnrprnrb "Ual(-cI<UqaF-24/03> 6urdhtucrnnd rlnqnriph q.fudtufu unrunhurh trulutuhrurrlurhh

qbh tlruuhtr
1.1. uUrq<-q<U\QP-241O3" 6ur6Uruqnn qnrrBh cLduL unurnhurh trutuurhul, LU btr

2/h Uqpubpf utrt[rubnrfp Qur rfrur pudtrf pt4hut n rp tu Juu hu2{u1 ht, qht,U
(nnur)

1 pbLqhtr, nbqnrlup 4700000
2 airqblul[L L[unbfrp 624000

2. SbnbUnrplnrtr ,,Ual(-$(UalOF-24/03> dru6Uruqnnrl ilpgnUph hruJrnbnh Furgrlurtr {uJnh, onrlu tr drudh
rluuhtr.

2.1. (Urn<-q<Urnap-24/03,, 6ur6!urqpn{ r.lngnUtuh hultnbpfr bpupLbpp purg{bt bL 2024p-f dupm[ O7-frtt

dutlp 11:30-frL, (( 2pgur!ur rlfrgrur{rulpfr trufuupupnrplurtr <UpqblngurqrupLlulJrtr hurlufrp' alflU9-nLd, ((
9nmulpfr r'l,rf'q., hurfruLp Ap{bd huugbntd:

3. (rulmbp bbnIurJugnurd rluubruhhgtrhnh urtrlurtrnrrltrbnE (utrnrtrtrhnn) tr huugbtrbnn.

4. Sb4bhnrpJnrtrtrbp qtrruhumnI hurtrdbrudnllnrlh ubrlurrlfubFh L purprnnrturnh 2ruhhph puludutu

{bnupbruut
4.1. gtrurhurunnrl huLdtrudnrln{ft urLqudtrbnn t, purnmnqurfrp <Ual(-9(UrneF-24/03> 6u6Quqpnr{ qtrrlurtr

plrpugulurpqfr hrulmbpfr pulgrlutr trfrumfrg hbmn. umnpuqpbl bt] huluurpurpntplntti, np hhZrt
ptr pr.u g ur ! ru pqfr u.r ntrln LfaJ ur f F 1n rtr btr 2u h bp fr pul fu n td :

5. (ruJrnhnh l.Iuqiltlub h bbnl.IuJugrftutr'hnrutlhnh ulurhrufugtrbFh hurlurqrurnruuluurtrnrpJutr
r{hFuFbFJ url m hnb! nrpJ nrtub bp.

(L.l,irqnqnulurL)

5.1. (Uh Oh hu htrbpgfr gpnrq> UrlC+ qnnlhg trbplrulurg{urb {rrupbpp luqd{urd bL hpruL{bpnL{

u ur h f urtr {ru 6 q ur h urbgtr bp [L h u dtu q r-u tn u u fu utr :

Etrqnrfu{h1f npn2nrrl' !n[,I' 3, qbtl'0
6. Fug{ruO Jnrnurpurb!nrF rlrupbpnril hFu{bpnrl u{uhrubgrlnrl thruurnrupruabFh tunt{urJnrpJrutr tftuuhtr

(L.1,fr!nr1nu1ub)

6.1. (Uh Oh hu htrbp2ir gpnrq> Url0-h lnnlhg trbplulurgr{ub hupnntrl urnQur I hpu{bpn{
uur h dutrr{u & r{rur urnu pnpbnn:

Lltuutrul.lglr
rutrtlurtrnrrln

9rnbr[b1nr .[rtpn t1b[ rn p nfu ur; [rtr r] n u rn lr
huruqb

<q<<

(Uh Ah hu hLbpgir
9nnur, U/|-lC
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7.

8

Cbqnrtr{b1f npn2nrrf' [1n4.I' 3, 4br['0
StuttrbF Jnrnruptublnrn rtuuhrulgh bhnhuJrugpru6 truurnupnpbph' hFurlhnn{ uurhdurtr{rud

ul uJ rlurfu tr bFhtr h ur du u{ u m ru u lu rutr l{ ruqdrltud $fu bln r rlur u htr

(l-.Lf !nrlnulurtr)
(Uh Oh hu hLbp2[ 9pnrq> Url0-h qnqr.lhg LbpqurlugLlu6 r.frruumurpruabnp Lluqd{u6 btr

h p u {bp I q u1tftutrL bpirtr h ur rftu q u rnru u fuutr
Ctr4nrbr[b1 | npn2nrrl' !n4.I' 3, 4brl'0

N
9trrlutr bLpurlur

uqpurtrptrbpfr
utrr{utrnrdp

Qurr.hfurtr

dfrurL{npp

9trfr u nugrunllbnn (ryn,1 rl)

(Uh Oh hu htrbp2fr $pnrq> UalC

1 2 3 4
qhLn $frL! urntuLg UU(

1 FbLohL (nbonururn) thmn 4 700 000 3 916 666.67

2 rlhqbrur rhti rlur nbrhp mmn 624 000 520 000

8.1. (Uh Oh hu ktrbpglr $pnrq> UflC-h qnqllhgr.lngnUtuh qtrurlfrtr urnupupltrbpfr frLptrLupdbpir
h u 2riur p ! n rd pr{ur p urtr u ! urtr urtr62rn n rp1 n rtrtr bp 1! u tr :

Cb4nrb{b1f npn2nrr[' l{nn.l' 3, 4brl'0
8.2. Sbnbl,{uurrlnrpJnrtr' hrulnbph {bpruphruut hungnrrlbbnh Lr u|rurnruulurufufubnh rftuuhb(Url<-

q<UqaF-24/03, &ublluqnnLl r'lngnUph hurpnbpfr r{bptupbplurl hurpgnrdtrbp Lr qrurnurufuurbLbp lbtr
br1b1:

9. Sbrtb-llrum4nrpJnrtr'Jnrnruprublnr.n rluruturlgh tbp!uJtugrlrud rurqnurbph turlFnqgrut{urb
bhupruqnh druuhtr

10.1 uUh Oh ku hLbp2lr $pnrq, Ucl0-h trbplrupugLlur8 uqpurtrpir utlpnqgu.rLlutr trlr-uptuqppp
h ur rlur u1 ur rnu ufurutrn rd bL hp u {bp[ q ru hutrgtr bp[tr :

10. Stultrbp' untughfu L hugnn+uFup ruJl rnblbn qFru[hgnrud fruutrul.lhgbbph {bFurFbpJut
10.1. (U/q<-q<U'T1eP-24103r> 6u6!urqpn{ fngnUph ptrryurlbtrp dbll rluutrulfrgfr trbpllurlug{u6 qtrurllrtr

r.unrugrupllJr ruprpnrLpnrd hu.rqpnrl f 6urtrrul{b1 .U[A[ku O[1> Un|C-frtr:
Cfu4nrtrr[b1f npn2nrrl' tlnr1rl' 3, qbrl'0

(rutdfu rudnrtn{E nFn2bg'

(L,Lhqnqnu.iurtr)

12.1 ([fp gL4nrtrbln{ qtrurhurrnnrl hurtrdtrurdnrln{[r urtr4urdtrbpfr qnq,lhg trbp!r-u1ugL{ru6 qtruhuundurtr
pbppf lLbpp hurpnrl6u:trur1b1<Uf Airhu Oirl > UOC -frL:

12.2 (urumumbl qruldrubuq[p LlLpblnr tlurufrtr npn2rlutr hru.;mrupurpnrp.puL rnbpump:
12.3 <QLnLdLbpir duufrl> (( opbtrpfr 1O-pq hnrpr{u6f 4-p4 Llbtnfr hudrudulL'r.uLqnpbnrplutr durrlllbrnp

!irprunbfr th, bpb rlfrurytr db! rluutrru[1hS h hrlrn Lbp!ulurgpbt, nnh hbm ltrpr{nrrl I qurlrlurtrurqfrp::
C!4nrbr[b1f npn2nrd' [1n4,I' 3, 4brl'0

CL4nrbr[b1f npn2ntrl' hnn,I' 3, rlbf '0

(urtrdL ur dn qn 4h urti 4ui dtr bp' (. 2npuLlurtr

fu.Upuprulurtr

L. Uffrpluh

11.

12.

(urtrdl.r urdn qn {Jr tr ur fu urqur h' L.lrfrllnrlnulurtr

(rltrdtr udnqn{h pu fiLnnrqu fi'
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